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QUESTION 1

Which two code fragments cause compilation errors? (Choose two.) 

A. double y1 = 203.22; float fit = y1; 

B. float fit = (float) 1_11.00; 

C. Float fit = 100.00; 

D. int y2 = 100; float fit = (float) y2; 

E. float fit = 100.00F; 

Correct Answer: AC 

 

QUESTION 2

Given: 

And the commands: 

Javac Jump.java Java Jump crazy elephant is always What is the result? 

A. Lazy lion is jumping 

B. Lion is always jumping 

C. Crazy elephant is jumping 
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D. Elephant is always jumping 

E. Compilation fails 

Correct Answer: B 

 

QUESTION 3

Given: What is the result? 

A. double sum is 30.0 float sum is 30.0 

B. float sum is 30.0 double sum is 30.0 

C. Integer sum is 30 double sum is 30.0 

D. Integer sum is 30 float sum is 30.0 

Correct Answer: B 
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QUESTION 4

Given the code fragment: 

What is the result? 

A. 2012-02-10 

B. 2012-01-30 

C. 2012-02-10 00:00 

D. A DateTimeException is thrown at runtime. 

Correct Answer: D 
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QUESTION 5

Given the code fragments: 

What is the result? 

A. Compilation fails only at line n1. 

B. Compilation fails only at line n2. 

C. Tool::export Tool::export 

D. Compilation fails at both line n1 and line2. 

E. RTool::export Tool::export 

Correct Answer: B 
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